BV BERY  EERAI SR

NFH OB B 2 1

(1) #FIhREFONE
HHER L NUAR 2 RS 5,
KEFCABR T L

(2) HBERREICEIS 5 HW

HHHEA - RIS B L O SR, RGO BURREE % 3l

HEEEAR « (RTHIEREE) ZBRAE DM T —< 2l & L CFgEatEIc o v Calh
(BRIERIE) L (£7z13 2 nicflb 3 340) L fFgeatimnc B L <athi

(3) AGHEDHTER N ERE
DR LFR AR AT A
THEA & ORI oRA S (240 SR THREHET B,

R A AT S
FHEAIL 120 sUlH & L, FHlE U To L sY LT 5,
EHEARE 34 20 51 4 340 E AR T 5 =60

S R AL 2 60 5T XFREK 2=120 57

WEgEEtEE | 156 8 | 1~15 MOFRM T T 5, HLIFLLTD LB,

- Bt ZEE RIS E AN TE D, B TWE 14~15 15
CFZEEES R K EAR T WS 10~13 &

- WFZERTINC RIS FETRE I 7 v 6~9 5

L EX D LMK 1~5

BGEREAE |5 5 | 1 ~5 ROFR[ATIHHET 52, HXIZUTOLHY,
- AEEFHTH S 5 R

C O GE 3~4 1
LLEX Y F5E 1~2 5




1 SE AR F A A

FIEARARTIE 120 siifaie L.

FHE T EIEA T B LT3,

HEEARZE R 34 10 514 34 0FHI 2 &5 % =30 5

FPf RS 2 30 X FRE4=120 5

O 1~10 HoFHMTIHET 2, HRIIUTDEEY,
CRIEAFEETHE LW AME 10 5

c NFEZ NI B EBH R AT T~9 &

c A¥E B0 5~6 5

U EDL VXD A5 R 1~4 5

@ LER R A

THEE L DA OR AR (240 fUMR) TEREZHIET 5,

=
=
=

FEAFAE

& o

o

=
=

AT 120 A A S L.
FRBARB IS 40 5,14 34032 &8 T2 =120 &

FHE T EIEA T B LT3,

Al B 120 52X FRE1=120 51

CRw 0
(F7-13F 0
b 3 )

20 /4

1~20 HOFHTIHiT 2, HLZIZUTDOEED,

- B ICAF LT 3 FERICIE, IREEE LT
ERVAGE R N TE A=A | g
BoENHmLTH D, 16~20 51

BV REPELE 5N D LD RFSCTIED B A,
Pk E & LCHY.TE 2 A[REMEIEH 5, 10~15 5
CRERRFZEE & L CHILTE B AREE MKV &

W T N2 LRI THE 1~9 5

e T

o

p={i}

15 &

1~15 oKL TIHGiT 2, HLZIIUTDOEED,

- Bt SEE RIS E AN TE D, BERTWE 14~15 15
- WFZEETHA R K E N TW» B 10~13 A

- WFZERTINC R ICRETRE I 7 v 6~9 5

L EX D LMK 1~5

AR &

55

1~5 RHOFEM TS 2, HZIILUTOLHY,
- EAEESFTH D 5

- O E 3~4 &
UEX VS 5E 1~25




1 g A ] Al A
FEERAR] I 120 i & Ly FHli5E R To e s &35,
HEERMER 34 10 5714 34 0FHliZ &R 3 5 =30 &

S R L ¢+ 30 R X fRE4=120 53

O 1~10 HOF/MTIHET 2, HZIIUTDEEY,
CRBIEAFEETHE L AME 10 5

C ANFERNIEH B EFH R AME T~9 5

c A X5 0N 5~6 5

U EDL VXD ARl 1~4 5

(4) AERIE ORI 3 NISTT
BRCES DD Y B XL OAFROMAITE L TR DR 2 05 & 3 5 SR 3,
HEBAE H o 1 4 Al £ I ERRAUERt () FB=EIch Ltz 2 &,



